Probs_Chap2_Lavalle

Tuesday, April 28,2009
8:06 AM

Theie are two inl@r@m\ﬂﬂbxy 0—594&

% 1D s The robot movee n o LD Lasdd.

The & cmayr S\f\gﬁ‘%Jrs -

Cobé
TThe latker Svgyests —

rolost ool
Wove A

&m& €r\4

A~
\Oo\fjb)r@w\{/ . Aot ml‘\w& Cobat f]-m’l

conty

Tl ?;\m\ £ s ()V()LL!/W\ ( communication

4\)'\41. Lau\/ov\\{) -LS 'Lo (M,QL%{ *H\;L S\JYY\W\LJH‘J 0]L
S—éo\,rvl’\\r\s ‘!DTUW\ XG 4o XI' RQVY\Q/VY\,\OQ(‘ /HW\‘ L‘f\
p\m\r{\f\j pobloms You do not baa'm oty the ﬂmpl\.

mp hw2 solns Page 1



Yo build that a5 you go. Thaceove Dijledvals &%
coud find —the opt- soln. faster badkwands  bham
forwadds . Kezp 0 vnind erjl\} Fhat  Systems
w/ Focton (amd other non—reved b SUSVL?M\SB
oy have o soltisn v one AAMCBA/ d nobd in
—he other,

mp hw2 solns Page 2



